HOME

ABSTRACT

Copyright


http://www11.plala.or.jp/yuichiro-h/index.htm

Henry Hess A.W.Patrick R.L.Brummet, David Solomos

Taylor
Solomos
Solomos
M
n
e+ .
Henry Hess
C.E.Knoppel  Walter Rautenstrauch
Frederick Winslow Taylor
Harrington Emerson
A.H.Church
J.N.Harris
Henry Hess
David



Solomons

A.W.Patrick

R.L.Brummet






tn

2003-331115 P2003-331115A

2002-137922 P2002-137922

1+

2003.11.21

2002.5.14

2007.8.21



2]



3]



+tn



7]

6]



tn

1]

10

2]



9]

11

3]



[ 10] [ 4]

Cost Volume
Profit

12



A_W.Patrick
[ 1]
D.Solomons [ 1 A.W.Patrick
[ 1]
[ 1]
Solomons
Solomons

13

CVP

Cost-Volume-Profit Analysis



[

]

[

]

14



15



[

]

Solomons [ 1

Solomons

A_W.Patrick D.Solomons

[ 1]

16

Patrick



CVP

[

Cost-Volume-Profit Analysis

]

[ 1]

(Current sales)

Current production

17



X(£)

D'(£)

N(E)

C(s)

A'(g)

G(e)

PP(£)

18




m 00y oy

E E
E E
E E
E E
E E
E
E
E E E E
E
E
E E
o =
()
EX(&) X(£) c'(e) A'(€)
Q&) 3()
G(£) QMeE) S(E) PY(=)
PY(=) PP(e)
E E

19




20



QM=)

21

AX(€)
()
PP(e)
E E
(O] s




[ 1
D.Solomons
D.Solomons A_W.Patrick
A_W.Patrick
D.Solomons
s P s
s s s
s s
@ s s s s
s s s
] s

22



X() 1,000
D*(£) 700
AX(E) 180
ch(e) 190
A'(E) 205
G () 85
P'(£) 50
GY (£)=0
AXO(g)=25
A*O(e)=180 25=155
AYM(£)=205 155=50
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X(£) 833
D*(£) 583
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cf(e) 190
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G" (&) 85

P(g) 0
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D*(£)=700-833/1,000=583
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ml m2
X | X(€) 1,000 600 400
D¥(g) 700 430 270
A*(c1) 95 60 35
A*(c2) 85 45 40
c C™(cl) 100
CH(c2) 90
A%(c1) 30
AC(c2) 30
A(c1) 135 80 55
AY(CZ) 70 40 30
AS(g) 5 3 2
AR(g) [10]
g G [85]
u u(E) [10]
S(s) [10]
AS() 5 3 2
P(£) 40
rl A% [10]
GV=0
NO(g)=25, N O(g)n=15, A*(&)n=10
AOe)=A"O(£)=180 25=155
AXO(£),,=105 15290, AXO(£),,=75 10=65
AY(£)=205 155=50
AYO(£), =120 90=30, AY"(£)n,=85 65=20
N()=25 50= 25
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() 120 65 55
AX(€) 180 105 75
() 260 142 118

nE) 25 15 10

CH(c1) A% 100 55 45

C™(c2) A% 920 54 36

G 85 43 42

u(s) 10 5 5

S() 10 5 5

AR(g) 10 5 5
P(£) 40 28 12

AX(C1)m s AX(C1)mo= 55 : 45

X(m1) : X(m2) = 50 : 50

AX(C2)m1 : AX(C2)m2 = 60 : 40
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